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Question Number : 1 Question Id : 7368155051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert 52 into a binary number.

Options:
1 % 110000



> « 110100
s % 101010
4 % 100001

Question Number : 1 Question Id : 7368155051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

52 ST &A1 H UEtad #i
Options:

. % 110000

- « 110100

s % 101010

., = 100001

Question Number : 2 Question Id : 7368155052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The number of prime factors in (15)™ =< (H¥ =< (&' is:
Options:
1 ® 5

-2

n

o W 8
= W 06
4 o 104

Question Number : 2 Question Id : 7368155052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(15)E x()° % (6)* H AT FIT FHT &I ¢
Options:

;1 % B2
- % 85
2 & 96
104

\ 8

4.

Question Number : 3 Question Id : 7368155053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What least value must be assigned to * so that the number 105%684 is divisible by 97
Options:

1. %

L

L%

o W

5 ®

-1

4.331



Question Number : 3 Question Id : 7368155053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FT T FH ¥ FH FoO * & v o smem anfge, @ifF g=ar 1054684, 9 ©
== &

Options:

13.35

2.¢ 3

3%-3?
4 % 1

Question Number : 4 Question Id : 7368155054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Compute: 123 X 99999 4 123.
Options:

1 ® 13299999

> % 13200000
= « 12300000
4 % 12399999

Question Number : 4 Question Id : 7368155054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IOTAT FYL: 123 x 99999 + 123
Options:

1 = 13299999
> % 13200000
z « 12300000
4 % 12399999

Question Number : 5 Question Id : 7368155055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the units digitin (265)™ +(211)°%
Options:

1 7

> o 6
3 % 5
4 % 3

Question Number : 5 Question Id : 7368155055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

(265 +(211)" H THIS FT HF AT Fi|
Options:

1 & 7

2 ¢ 6
3_335

4 % 3

Question Number : 6 Question Id : 7368155056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 231 X 625 + 625.

Options:

1 ® 146000
> o 145000
= % 514000
4 % 541000

Question Number : 6 Question Id : 7368155056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IOTAT L 231 < 625 + 625
Options:

. % 146000
, « 145000
- = 514000
., = 541000

Question Number : 7 Question Id : 7368155057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Bikram studies for T% hours daily. He devotes 1L hours of his time for
%

Mathematics. How much time does he devote for other subjects?
Options:

_ ﬁlhm
1 A0

.
2 _hrs
> ® 5
Elhrs
3 % 4
E

3—hrs
4 % 8



Question Number : 7 Question Id : 7368155057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
s 9fafee 7 - ©¢ a9 3TTS FIAT 1 FE FIS FET F 1
TIf0Tg & 247 &1 98 3T Ovar & Shgar gag &ar &7

Options:

6- e

1% 6

2 =

e

LIS

o R

T
3%3 4

gl
#® fd

4.

Question Number : 8 Question Id : 7368155058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rekha and Ragini together bought a water bottle that contained 3 V> litres

of water. Rekha consumed 2 of the water. Remaining water was consumed
8
by Ragini. What fraction of the total quantity of water did Ragini drink?
Options:
?
1=litres
1% 3

1
1=/irres
> % "3

; 22 Jitres
= o 16

|
1—Jifmres
4 %

Question Number : 8 Question Id : 7368155058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

@r A afEET & gy JeeT uer $r v g e w@ien, SwE
S%Eﬁamﬁm!wﬁﬁmﬁgmﬁwmmmﬁ

i & R e F o e ey 9= far
Options:

12?%2?

133%12?

22 dieT

= o 16

1 &

> R



1%3’:13?

4 %

Question Number : 9 Question Id : 7368155059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Amulya. Bhavani. Chandrika and Deepika finished coloring a picture in % hour. — hour.

2
3
1

2

) 1 L ' . .

hour and = hour respectively. Who among the following finished their coloring first?
)

Options:

1 % Chandrika

- « Deepika

5 » Amulya

4 % Bhavani

Question Number : 9 Question Id : 7368155059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T, e, O AR AR A wEer D w2, 2w, Lwr ek 2 W A
TEIRY & T 8T & F1 & FATT o697 e # & gger T

3Tl T FIT FATCT fHar?

Options:
1 ® W
g, CUREY

.. HHT
T ® &

4 % HIEAT

e | pad

e | 1

Ly

Question Number : 10 Question Id : 7368155060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which among the following is the largest?

17 1 7

Laa

Iq|u:n

£

'-...-n:ll

Options:

| =l mlE I-..ll'\.D

[
-]



Question Number : 10 Question Id : 7368155060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FafRRT F @ 9 or gey g3 2

O A
RO EY
Options:
9
L2
13
2.%&?
7
3_-‘»3;
17
4% 4

Question Number : 11 Question Id : 7368155061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The difference of two numbers is 9 and one-fifth of their sum is 9. Find the smallest
number.

Options:
1.« 18
oow 45

I 15

Question Number : 11 Question Id : 7368155061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 3 FT HAT 9 AT IAF TeT I 15 REAT 9 F TEW o O F AR
FI

Options:

1 v 18

o R 45

I ® 28

4 ® 15

Question Number : 12 Question Id : 7368155062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The difference between a number and its one-fifth is 20. What is the number?
Options:

1

LA

0

| ]

5

%
= o



T W 35

T 45

Question Number : 12 Question Id : 7368155062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T HET 30T 38+ 1/5 & &= F a7 20 g1 I8 H&IT 47 82
Options:

1 = 50‘

o ® 35

4 ® 45

Question Number : 13 Question Id : 7368155063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the value of (—2) =(2)" %2y

Options:

1 ® 25
o % 32
= o =32
4 % -18

Question Number : 13 Question Id : 7368155063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

(2P <(2)°=x(2)° T AF AT F1
Options:

1 % 25

> R 32

3 ¢ =32

g4 ® --18

Question Number : 14 Question Id : 7368155064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If 4X67-24Y6=1911. then which of the following should come in place of X?
Options:

1 #® 6

|

o R

L

3 R

L]

4.V



Question Number : 14 Question Id : 7368155064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

4X67-24Y6 = 1911 &, af @@T § ¥ X & TUF T &7 AT AMge?
Options:

1.$35
> % 7
3_235

4¢3

Question Number : 15 Question Id : 7368155065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(419+213) +(419-213)°
© 419x4194 213x213

Solve

Options:
1 ® 215

o o 2
3 % 645
4 % 1569

Question Number : 15 Question Id : 7368155065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T FT (419+213) +(419-213)
419x419+213x 213

Options:

, % 215

2.¢ 2

- % 645

4 % 1569

Question Number : 16 Question Id : 7368155066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The present salary of Raman is Rs 5300. This will be increased by 13% in the next year.
What will be the increased salary of Raman?

Options:
, + Rs 5989

~ % Rs 5850
= % Rs 5870
4 ® Rs 5890



Question Number : 16 Question Id : 7368155066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

THA T TAAT da7 T. 5300 2| 37976 I HA 13% FT I
greft gig & a1 A &1 ger gHT a4 Fraar gem?

Options:

| v . 5989
., % % 5850
- % % 5870
. % ¥ 5890

A8

Question Number : 17 Question Id : 7368155067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In an examination, 96% of the candidates passed and 400 failed. How many candidates
appeared for the examination?

Options:
1« 10000

> % 14000
s % 12000
4 % 12500

Question Number : 17 Question Id : 7368155067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tk TUET H 96% TIEt ST g 3R 400 3efecor gU| e  H fhaa
aitemeft ¥ 47

Options:

. v 10000
. = 14000
- = 12000
. % 12500

4

Question Number : 18 Question Id : 7368155068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What percent of 1 ¥2 day is 48 minutes?
Options:

1 ® 55%

Cag
L)
Fay

=]
ey

o R

| ]
| ]
| ]
(=]
ey

3.

| ]

L
2

o

4 ®



Question Number : 18 Question Id : 7368155068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

1% &7 =1 o= gfaera 48 &ae g g7
Options:

, % 55%
- % 3.33%
2 @ 2.22%
. % 2.5%

Question Number : 19 Question Id : 7368155069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Express 80 paise: 4 rupees in its simplest form.
Options:

1 % 1:8

" 1:5

= % 4:5

4 % 5:4

Question Number : 19 Question Id : 7368155069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
80 ¥ : 4 TIT FT THF TIGIH FT H AT

Options:

1 & 1:8
T b
=z % 4:5
4 % D4

Question Number : 20 Question Id : 7368155070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Two numbers are in ratio 7 : 6. If 3 is subtracted from each. the ratio becomes 6 : 5. Find the
largest number.

Options:
1 ® 26

2. o 21
ST ] 24
4 ® 20

Question Number : 20 Question Id : 7368155070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



ar 37 7:6 F IFUT H g| IS Tode H W 3 °IAT A g, A eI 6:5 &
AT &1 HEH ST H&AT FT 94T o0

Options:

1_&»’3 28‘

o o 21

3%-3 24

g4 ® 20‘

Question Number : 21 Question Id : 7368155071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A bag contains 50paise, 25paise and 10paise coins in the ratio 7:5:2 amounting to
Rs 198/-. Find the number of 10paise coins.

Options:
; % 163

5 % 175
2 % 150
4.« 80

Question Number : 21 Question Id : 7368155071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T o 7 50 %9, 25 99 3T 10 49 ¥ TEes 752 F
3IT H g T S A1 w198/ §| 10 97 & T
TEAT AT 1

Options:

. % 163

> % 175

2 % 150

4 v 80

Question Number : 22 Question Id : 7368155072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the average of 501.235.510,261.213.

Options:
1 ® 450

> % 1225
3 « 344
4 % 244



Question Number : 22 Question Id : 7368155072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

501,235,510,261,213 &1 3t@a frgar aem?
Options:

, % 450
. % 1225
-« 344
. % 244

Question Number : 23 Question Id : 7368155073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average of 15 quantities is 8. The average of 9 of them is 6. What is the average of
remaining quantities?

Options:
1 W 11

o W 15
= W 42
4 #® 30

Question Number : 23 Question Id : 7368155073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

15 iRt &1 39T 8 &1 398 ¥ 9 uferal & 3tag 6 g, ar 9w ufarat #r
Haa foaar geme?

Options:

1 v 11
> % 15
z % 42
4 % 30

Question Number : 24 Question Id : 7368155074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average monthly income of X and Y is Rs 8000. The average monthly income of Y
and Z is Rs 7000 and the average monthly income of X and Z is Rs 5000. The monthly
income of R 1s?

Options:

, « Rs4500

-~ % Rs 4000

= % Rs 3125

4 % Rs 4800



Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 24 Question Id : 7368155074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

X 3T Y #r dtgg A& 37 5. 8000 &1 Y 3y Z #r sitgg #Afas 3w @
7000 3T X 3t Z &1 39T #1fa=+ 3m7 T 5000 B Z & 7f@s 37 Graer
&7

Options:

| v . 4500
. % % 4000
2 % ¥ 3125
. % T 4800

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 25 Question Id : 7368155075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the amount at simple interest on Rs 2480 for 2 years 9 months at 5% per annum.

Options:
1 #® Rs 3500

> « RS 2821
= % Rs 3800
4 % Rs 3900

Question Number : 25 Question Id : 7368155075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
5% 9fd 99 WMUROT Ui #FT ST ¥ 2 a¥ 9 A H F. 2480 Fr ufr BFa=r &
FTTE?

Options:

| % T. 3500
onh . 2821
5 % % 3800
. % ¥ 3900

Question Number : 26 Question Id : 7368155076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Simple interest on a certain sum is ? of the sum. Find the time. if both time and rate
percent are numerically equal.

Options:

i years
1 % 2



Question Number : 26 Question Id : 7368155076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

v fAReT TR W FuRer e 3@ A A ) Iy sE sk

Qﬁamaﬁmm@nmm%#mmﬁ
Options:

11

z ® 23&
4 v 63

Question Number : 27 Question Id : 7368155077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Simple interest for a sum of Rs 3500 for 2 years is Rs 40 more than the simple interest for
Rs.3000 for the same duration. Find the rate of interest.
Options:
1 ® 20

=

B
[=h

- B 50
3 o 4%
4 % 3%

Question Number : 27 Question Id : 7368155077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2 99 ¥ fav % 3500 Fr ufer uT 9o \@EmUT ot sS4 EfY & v
T. 3000 9T 9Tog FIRUT 07 & ©. 40 SET &1 31T #r &7 AT Y

Options:

1 % 29":)
oow 59;”0
= o 4%

g4 ® 30,-"].0

Question Number : 28 Question Id : 7368155078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



An article costing Rs 1450 has been sold for Rs 1682. The percentage of profit was?

Options:
1« 16%

> % 25%
2 % 11%
4 % 20%

Question Number : 28 Question Id : 7368155078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

¥. 1450 & ST el TH IFG 1 T. 1682 F F=T 7147, A Fraer gfcrer amey
g3?

Options:

| v 16%
» % 25%
2w 11%
L % 20%

S

Question Number : 29 Question Id : 7368155079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Surekha sells an article for Rs 3600, She loses 70% in the bargain. What was the price at
which she bought it?

Options:
1 + Rs 12000

> % Rs 13000
s % Rs 14000
4 % Rs 10000

Question Number : 29 Question Id : 7368155079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TIET T TE] H T 3600 H 99T &1 T@ @ H 30 70% A §9| 36A TE
5] Fras & @l o

Options:

| v T 12000
., « % 13000
- = ¥. 14000
. = ¥ 10000

N

Question Number : 30 Question Id : 7368155080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

Lavanya bought an article for Rs 4736. Due to some defects in it. she had to pay Rs 264 to
the mechanic for its repair. Then. she sold it for Rs 4600. Find her loss percent.

Options:

Question Number : 30 Question Id : 7368155080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

SEUIT & Tk FE] #1 3. 4736 F TG g 3HA AT A1 & HNOT, 38 sH!
AFAT & e 35fFs =7 T 264 fv| T 30a 3@ % 4600 H = fTun| 3@
fohcetr wfdera ehaTe g3m?

Options:

1 % 5.5%
> % 8.5%
z % 5%
8%

A 8

4.

Question Number : 31 Question Id : 7368155081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

An item 1s sold at Rs 430 by allowing a discount of 14% on its marked price. The marked
price of an item is

Options:
1 % Rs 550

> « RS 500
= % Rs o000
4 ®% Rs 0650

Question Number : 31 Question Id : 7368155081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ueh IFq H WA Hiehd HIHA T 14% FT T T T. 430 H =T 7137 aF]
Fr sfFra Fraa e 22

Options:

| % . 550
. v % 500
2 % % 600



. % %. 650

Question Number : 32 Question Id : 7368155082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is a single discount equivalent to a discount series of 10% and 11%?

Options:
| 19.9%

> % 23.44%
3 % 25.5%
4 % 26.4%

Question Number : 32 Question Id : 7368155082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
10% 33X 11% FT g J@em & TAF Tohd g &7 872

Options:

v 19.9%
> % 23.44%
5 % 25.5%
L % 26.4%

e

Question Number : 33 Question Id : 7368155083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The marked price of a bicycle is Rs 3450. A shopkeeper allows a discount of 15% and gets
a profit of 15%. Find the cost price of the bicycle.

Options:
1 % Rs 2850

> #% Rs 1900
= % Rs 2900
4 « Rs 2550

Question Number : 33 Question Id : 7368155083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Uk Wsthol d1 HiFa FAT . 3450 T UF GHFEIN $H 9 15% H T T
g, af 3T 15% =T Berar g1 gsfa $r arg fag a9 =

Options:

| % . 2850
. % % 1900
2 % ¥ 2900
. 2550

=
'3



Question Number : 34 Question Id : 7368155084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.

RURAL AND URBAN POPULATION

CENSUS YEAR POPULATION(MILLION)
RURAL URBAN
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
2001 743 236
2011 834 L i

In which year the urban population is high?

Options:
1 % 1991

5 o 2011
3 % 2001
4 % 1981

Question Number : 34 Question Id : 7368155084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A= &7 IS JIfereRT & O ¥ HedTd #{ HT FEATa@d Jard & S99 3
AT AR oEdr FAFEE

SAIOTAT Y FFaET (TAETe)

aroT AR
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
2001 743 286
2011 834 377

g a¥ & o=l ey A B2

Options:

% 1991



- 2011
- = 2001
. = 1981

Question Number : 35 Question Id : 7368155085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.
RURAL AND URBAN POPULATION

CENSUS YEAR POPULATION(MILLION)
RURAL URBAN
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
2001 743 286
2011 834 377

In which year the rural population is low?

Options:
1 % 1961

> = 1981
3 % 2011
4 & 1951

Question Number : 35 Question Id : 7368155085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



A &7 I5 Ao & ST W eI R AR FEAfeEa 39 F FJ99 &
TmoT 3R oy FaTEa

AT TY SaEr (EETe)

ITHoT e
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
2001 743 286
2011 834 377

&g v & AT 3EEr #7872
Options:

, % 1961
. % 1981
2 % 2011
. v 1951

Question Number : 36 Question Id : 7368155086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.

RURAL AND URBAN POPULATION

CENSUS YEAR POPULATION(MILLION)
RURAL URBAN
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
2001 743 236
2011 834 377

In which year the rural population is 524million?

Options:
. % 1991

5 « 1981
3 % 1971



4 % 1951

Question Number : 36 Question Id : 7368155086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e & T2 Ao 1 euT ¥ 3ewTa Y 3t ARl gare w1 saw &
AT AT oEdr FEuE

FAUTAT TY SaEr ()

TTATOT T
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
2001 743 286
2011 834 377

form a¥ & amoT ey 524 AT 2
Options:

. % 1991
- » 1981
5 = 1971
. % 1951

Question Number : 37 Question Id : 7368155087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.

RURAL AND URBAN POPULATION

CENSUS YEAR POPULATION(MILLION)
RURAL URBAN
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
2001 743 286
2011 834 5 i

In which year the urban population is 218million?

Options:



; %= 1981
> % 1951
v 1991
4 % 2001

Question Number : 37 Question Id : 7368155087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A &7 75 Ao & SO | 3eOdd R AR FEAfe@d T9re F F99 &
T AR Ed FEEE

ST T SageEnr (fAfeTe)

TTATOT oTEdT
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
20071 743 286
2011 834 377

&g v F o2l 3medr 218 Afem= &7
Options:

% 1981
- % 1951
- v 1991
, % 2001

Question Number : 38 Question Id : 7368155088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Study the following table carefully and answer the question that follows.
RURAL AND URBAN POPULATION

CENSUS YEAR POPULATION(MILLION)
RURAL URBAN
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
2001 743 236
2011 834 377

In which year the rural population is 360 million?

Options:
1« 1961

> % 1951
5 % 2011
4 % 2001

Question Number : 38 Question Id : 7368155088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A= &7 IS JIfereR & O ¥ H{edud 1 AT FEATa@d "ard & S99 3
AT AR oy FEE

FHAMUTAT T SaEr ()

TTHTOT MELT
1951 299 62
1961 360 79
1971 439 109
1981 524 159
1991 629 218
2001 743 286
2011 834 377

T av # T 3eEr 360 ATET 72
Options:

, v 1961
. % 1951
2 = 2011



., % 2001

Question Number : 39 Question Id : 7368155089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The area of a square field is % hectare. Find the length of its diagonal in metres.

Options:
1 #® 50mts

5> 306 mts
= #% 40 mts

4 % 25mts

Question Number : 39 Question Id : 7368155089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Uk FATRR W T &I9hoT - FFeAT g1 ST T9aruT HT ofare faras #Hier 82

Options:

. » 5046 HrEX

4 *® 25 I—“E!

e

Question Number : 40 Question Id : 7368155090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The area of an equilateral triangle is 8+/3¢7:” . Find the length of its side.
Options:

1 ® —’lﬁ Far /il

> % 45cm
= o —1«!5:?}?:
4 % 425ecm

Question Number : 40 Question Id : 7368155090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U AN TARIUT FT &1 83T WAL g1 FHA o= FT &S TRt gef?

Options:
L w43 T T

- v W2 T T



4 % 425 T wA

Question Number : 41 Question Id : 7368155091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The diameter of the wheel of a cycle is 42cm. How many revolutions will it make to travel
6.6km?

Options:
1 ® 4000

5> « 5000
2 % 6500
4 % 4500

Question Number : 41 Question Id : 7368155091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

v wEfha & afgdr & e 42 2. 8 e 9% F 3¢ 6.6 TR Frogdr
T FE?

Options:

. % 4000
- » 5000
- % 6500
., = 4500

Question Number : 42 Question Id : 7368155092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A car travels 550 kun in 12 hours and another 450 km in 8 hours. Find the average speed of

the car.
Options:
1 « 50km/h
> % 52km/h
= % 47km/h

4 % 48km/h

Question Number : 42 Question Id : 7368155092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T FX 12 ¢ #F 550 FAT. 37 Far & 3T 39 8 ue & 450 ™A a7
FIAT &1 FT Fr Hog 9T Far 22

Options:

. v 50 AT EE
. » 52 FAEE



- » 47 A
4w 48 TR OE

Question Number : 43 Question Id : 7368155093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A vehicle travels at 70 kim/h. How many meters will it travel in 12 minutes?

Options:
1 ® 20050 mts

- % 19500 mts
= « 14000 mts
4 % 17050 mts

Question Number : 43 Question Id : 7368155093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U aea 70 A /e Fr wifa gisar g1 77 12 e # A A &g
T FLEM?

Options:

| = 20050 #Hex
, % 19500 #HeT
5 « 14000 #Hex
, % 17050 #Hex

Question Number : 44 Question Id : 7368155094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Archana can cover a certain distance in 1 hr 45 min by covering two-third of the distance at
4 kmph and the rest at 5 kmph. Find the total distance.

Options:
1 % 6.2km

> % 7.2km
= % 6.5km
4 « T.5km

Question Number : 44 Question Id : 7368155094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3o e fAfREa gt 1 1 w9 45 Bwe 7 a9 w4 & 59 ¥ ar-faes 4
s mer & 71y & 3k 9w 5 Fa/ger & afy ¥ 77 FE B 77 g 79
|

Options:




, % 6.2 A
> % 7.2 fF.A
- & 6.5 [T
4 ¢ 7.5 &

Question Number : 45 Question Id : 7368155095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Roja takes 45minutes to reach school from home. Ravi takes 30minutes to cover the same
distance. Find the ratio of time taken by Roja to the time taken by Ravi.

Options:

1 ® 35
o o 372
=8 23
4 ® 13

Question Number : 45 Question Id : 7368155095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST W W Tl % Tgoa & v 45 e o 31 I o g 1 97 wa
¥ fore 30 fase @ar &1 A= 3R T gEr o o wEw # e A

Options:

1 ® 35
o of 32
2 # 2:3
4% 133

Question Number : 46 Question Id : 7368155096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Stella works in office for Shours 30minutes and Koval works for 4hours in her office. Find
the ratio of their working hours.

Options:
1« 11:8

> % 11:4
5 % 85
4 % 6111

Question Number : 46 Question Id : 7368155096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



o FaeT ¥ 5 e 30 e 3T e 39 ey ¥ 4 U #H #7149
3% FHIH & G FH HJIT AT 9
Options:

1« 11:8
- % 11:4
= ® 85
¢ B

\

Question Number : 47 Question Id : 7368155097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ratio of times taken by A and B to finish a piece of work is 2:3. If A completes the
work m 12 days. then find the time taken by B to complete the work.

Options:
. % 25days

- x 45days

5 18 days

4 % 15days

Question Number : 47 Question Id : 7368155097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T FIH H U FA & fov A 3R B g@rr o av & &1 3 2:3 7
ofe A 30 & & 12 Gt & qU 3ar &, aF B 30 &1 # fohaa oAt 7 @
FIT?

Options:

1. % 25 fet
o = 45 fe=a
5 v 18 Tt
4 % 15 fe=

Question Number : 48 Question Id : 7368155098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Krishna can do a work in 4days and Sujatha is 25% more expert than Krishna to complete
the same work. then find the total time taken to complete the work by Sujatha.

Options:

2| =

5

dev
1.& .ET"L.S'

_ 3ldﬂ_'l.'j'
2. ¥ 5



4ldﬂ_1's
= 8 5

4 % Gdays

Question Number : 48 Question Id : 7368155098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FSUM U 1A &1 4 G # 90 FT Fepdt § 3 Grar 38 A F Foom H
ol F 25% SAET SHAT § U F Fohehl | A G 1 §H F1H F
e H Fo foraa g a@rr

Options:

Question Number : 49 Question Id : 7368155099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If A can do a piece of work in 2days. B can do the same in 6days and C can do the same
work m 7days. then working together. how many days will they take to complete the
work?
Options:

lid’a_vs
1. ¥ 17

> % 9days

1
2—days
z 8 2 7

4 % 24days

Question Number : 49 Question Id : 7368155099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I A, 2 RaT & TF FIH & T X ThaT ¢, B 38 F1F & 6 A 7 A C,
7 RA # T F FEAT §, A Iee THATYT HoT SH FH FOQW FA A
foraer oo e

Options:

1= &=

1 17




1
3%25%?

Question Number : 50 Question Id : 7368155100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
15 men can complete a work in 15days. Sdays after they started working. 20 more men

joined them. How many days will they now take to complete the remaining work?
Options:
2

86— davs
1 % 3

2
 4—days
e, A

2
T Zdavs
- e B S

: Eldaj.'s
4 ® 4

Question Number : 50 Question Id : 7368155100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

15 =¥ 15 & & T& &FHF & T F Fhd g1 3% AN FIH Y& Hd & 5
feer &g, 20 3N W 3aH onfR & AU T AW FH F G FA F T 5o
fraer e e

Options:

6> et

2

ol 4;%?

?gﬁ?r
sfﬁ?

1 %

3 ®

4 %
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Question Id : 7368155101 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51 to 60)
Cuesticon Label | Comprehension

Read the passage given below and answer the questions given under it

Scientists are on the hunt to solve the mystery behind man’s best friend. There are many
theories. and no clear answers. on exactly where dogs came from. and the details of their
domestication remain uncertain. A new effort by scientists aims to collect all existing data
on ancestral dogs, including studying museum specimens, burial sites. and DNA samples.
Archaeological evidence suggests that human interactions with dogs date to at least 14,000
years ago. But DNA evidence suggests that wolves and dogs diverged far earlier—maybe
as far back as 135.000 years. A possible explanation for the difference is that earlier dogs
would have strongly resembled wolves. which would make them difficult to distinguish in
the archaeological record. Our nomadic ancestors would not have needed to breed dogs for
specific purposes until when they founded permanent. agriculture-based settlements.
Determining the geographic origin of dogs is equally challenging. Multiple areas have
been theorized. including Central Asia, Siberia, and East Africa. But this is made all the
more difficult by the fact that dogs and wolves frequently breed, which reintroduces wolf
genes back into a given population. It’s possible that multiple dog populations arose
separately in different areas. Other studies point to a single origin.

Given all the conflicting information. it’s no wonder that the origin story is so hard to pin
down. Take. for example. the popular view of domestication: that early human beings
adopted wolf pups and then systematically bred them to be docile and obedient. But we
now know that taming wolves is next to impossible. So the earliest dogs—or some form of
the wolf—must have been. in part. willing to cooperate with early humans. And if this is
true. who domesticated whom?

Sub questions

Question Number : 51 Question Id : 7368155102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An appropriate title for the passage is {Keep the last sentence in view}
Options:

, « Did Wolves became Dogs to be Our Friends?

- » DNA and Archaeology Differs — Just a Matter of 100,000 Years

- % When did Dogs become Our Friends [Forget the ‘best’]?

, % Unclear origin and Ambiguous Domestication of Dogs

Question Number : 52 Question Id : 7368155103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The passage:

Options:

, % describes and discusses dog-related issues in very clear terms with definitive evidence

> % dodges discussing dog-related issues by not offering any definitive stances



- » indicates the difficulties that surround describing and discussing dog-related issues

4  captures the confusion that conflicting information about dogs’ origin engenders

Question Number : 53 Question Id : 7368155104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The writer mentions. “data on ancestral dogs. including studying museum specimens.
burial sites. and DNA samples™, but the passage fails to go back to one of the data-
providers. It is

Options:

1 % burial sites

> % DNA sample
5 o luseum pieces

, % ancestral dogs

Question Number : 54 Question Id : 7368155105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Scientists are on the hunt” are looking for
Options:

L ® burial sites of dogs

> % museum specimens of dogs

5 o physical evidence from dogs for DNA tests

, % ancestral dogs

Question Number : 55 Question Id : 7368155106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The writer mentions that ‘wolves and dogs diverged’. Converge. note, is the antonym of
‘diverge’. The convergence will relate to

Options:
, w origin of dogs

- % domestication of dogs

5  DNA of dogs and wolves

, % Dbecoming friends with humans

Question Number : 56 Question Id : 7368155107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The ‘origin’ the passage deals with refers to
Options:

, = dogs’ genetic origin

> w dogs’ geographical origin

-  Doth genetic and geographical origins



, % dogs’ domestic origin

Question Number : 57 Question Id : 7368155108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The strong resemblance between dogs and wolves
Options:

, % opened the door on DNA-related research

- % created problems for the archaeologists

- w confused the records maintained by archaeologists

4 « Provided the thesis that dogs might have evolved from wolves

Question Number : 58 Question Id : 7368155109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In ‘Multiple areas have been theorized...’. theorized means

Options:
, % Imagined
- % posited

-  Dhypothesized

4 % Speculated

Question Number : 59 Question Id : 7368155110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In ‘reintroduces wolf genes back into a given population.....". population refers to the

Options:

, % Dbeople

o % sample

- # Wwolf-packs

4w dog-packs

Question Number : 60 Question Id : 7368155111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The closest synonym of ‘domesticated’ in the light of the discussion in the passage is
Options:
1 # housebroken

> « tamed
5 % civilized

4 % accustomed

Question Id : 7368155101 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51 to 60)
Cesticn Label | Comprehension



Read the passage given below and answer the questions given
under it:

Scientists are on the hunt to solve the mystery behind man’s best
friend. There are many theories, and no clear answers, on exactly
where dogs came from, and the details of their domestication remain
uncertain. A new effort by scientists aims to collect all existing data
on ancestral dogs, including studying museum specimens, burial
sites, and DNA samples.

Archaeological evidence suggests that human interactions with dogs
date to at least 14,000 years ago. But DNA evidence suggests that
wolves and dogs diverged far earlier—-maybe as far back as 135,000
years. A possible explanation for the difference is that earlier dogs
would have strongly resembled wolves, which would make them
difficult to distinguish in the archaeological record. Our nomadic
ancestors would not have needed to breed dogs for specific
purposes until when they founded permanent, agriculture-based
settlements.

Determining the geographic origin of dogs is equally challenging.
Multiple areas have been theorized, including Central Asia, Siberia,
and East Africa. But this is made all the more difficult by the fact
that dogs and wolves frequently breed, which reintroduces wolf
genes back into a given population. It's possible that multiple dog
populations arose separately in different areas. Other studies point to
a single origin.

Given all the conflicting information, it's no wonder that the origin
story is so hard to pin down. Take, for example, the popular view of
domestication: that early human beings adopted wolf pups and then
systematically bred them to be docile and obedient. But we now
know that taming wolves is next to impossible. So the earliest dogs—
or some form of the wolf-must have been, in part, willing to

cooperate with early humans. And if this is true, who domesticated

whom?
Sub questions



Question Number : 51 Question Id : 7368155102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An appropriate title for the passage is {Keep the last sentence in view}

Options:
, « Did Wolves became Dogs to be Our Friends?

. » DNA and Archaeology Differs - Just a Matter of 100,000 Years
- » When did Dogs become Our Friends [Forget the ‘best]?

4 » Unclear origin and Ambiguous Domestication of Dogs

Question Number : 52 Question Id : 7368155103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The passage

Options:
describes and discusses dog-related issues in very clear terms with
, % definitive evidence

. » dodges discussing dog-related issues by not offering any definitive stances

indicates the difficulties that surround describing and discussing dog-related
2 % Issues
captures the confusion that conflicting information about dogs’ origin

4  €ngenders

Question Number : 53 Question Id : 7368155104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The writer mentions, “data on ancestral dogs, including studying museum

specimens, burial sites, and DNA samples”, but the passage fails to go

back to one of the data-providers. It is
Options:
1 % burial sites

> » DNA sample

- w Museum pieces

4 » ancestral dogs

Question Number : 54 Question Id : 7368155105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Scientists are on the hunt’ are looking for
Options:

, = burial sites of dogs

. » Mmuseum specimens of dogs



-  Physical evidence from dogs for DNA tests

4 » ancestral dogs

Question Number : 55 Question Id : 7368155106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The writer mentions that ‘wolves and dogs diverged’. Converge, note, is
the antonym of ‘diverge’. The convergence will relate to

Options:

, = origin of dogs

. » domestication of dogs

- « DNA of dogs and wolves

4 » becoming friends with humans

Question Number : 56 Question Id : 7368155107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The ‘origin’ the passage deals with refers to
Options:

, = dogs’ genetic origin

. » dogs’ geographical origin

-  both genetic and geographical origins

, » dogs’ domestic origin

Question Number : 57 Question Id : 7368155108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The strong resemblance between dogs and wolves

Options:
, = opened the door on DNA-related research

. » created problems for the archaeologists
- » confused the records maintained by archaeologists

4,  Provided the thesis that dogs might have evolved from wolves

Question Number : 58 Question Id : 7368155109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In ‘Multiple areas have been theorized,..’, theorized means

Options:
, = Imagined

- % posited

-  hypothesized



4 » Speculated

Question Number : 59 Question Id : 7368155110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In ‘reintroduces weolf genes back into a given population.....’, population

refers to the
Options:

, = people

. » sample

- » Wwolf-packs

4  dog-packs
Question Number : 60 Question Id : 7368155111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

The closest synonym of ‘domesticated’ in the light of the discussion in

the passage is
Options:
1 # housebroken

> « tamed
z % civilized

4 % accustomed

Sub-Section Number: 2
Sub-Section Id: 736815151
Question Shuffling Allowed : No

Question Id : 7368155112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61to 70)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Given below is a passage with ten blanks, numbered from 11 to 20. Fill in the blanks by
choosing the correct option given against the corresponding Question number:

Before Christianity. there was no practice known as 'witchcraft'. The word probably came
from a Celtic word for wise, 'wicce'. Many of these can be traced to the ancient Celts and
Gauls, who were familiar with (11) in their daily lives. Their traditions and
magic have (12) to with devil-worship. By coincidence and the (13)
of belief, their magic worked. and was used (14) day. Priests were the most
prominent magic (15). and many people came to them for help with decisions,
love and healing. Divinations were done (16) there was a major decision to be
made. and the results of a (17) were said to be what the result of a

(18) might be. Healers were a valuable resource. and the priests usually took on
the role as (19) as well. They combined magic with natural (20)
techniques that would drive away the evil that had started the illness. There were also
spells and rituals done to help the general community.

Sub questions

Question Number : 61 Question Id : 7368155113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
1+ magic

> % mystery

3 % Iusic

4 % ‘mantras’

Question Number : 62 Question Id : 7368155114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
, » something

- % everything
-  Dothing

4 % all

Question Number : 63 Question Id : 7368155115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
1 % chance

o> o POWeEr

5 % mMagic



4 % 1Music

Question Number : 64 Question Id : 7368155116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
1 # some

o % any
3 o EVery

4 % each

Question Number : 65 Question Id : 7368155117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
1 « workers
> % labourers

- % engineers

4 % brokers

Question Number : 66 Question Id : 7368155118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
1 # when

5 ® every-time

5  anytime

4 w rarely

Question Number : 67 Question Id : 7368155119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
,  reading

o % Writing
- % Speaking
4 % listening

Question Number : 68 Question Id : 7368155120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:
, w problem

> % Occasion
3 « situation
4 % event

Question Number : 69 Question Id : 7368155121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

1 % doctor
> « healer
= % witch
, % Dpatient

Question Number : 70 Question Id : 7368155122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
, = Inagic-weaving

-  healing
5 % praying

4, % doctoring

Question Id : 7368155112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61to 70)
Cuestion Label © Comprehension



Given below is a passage with ten blanks, numbered from 11 to 20. Fill in the blanks
by choosing the correct option given against the corresponding Question number;

Before Christianity, there was no practice known as 'witchcraft’. The word probably
came from a Celtic word for wise, 'wicce'. Many of these can be traced to the ancient
Celts and Gauls, who were familiar with (11) in their daily lives. Their
traditions and magic have (12) to with devil-worship. By coincidence and
the (13) of belief, their magic worked, and was used (14) day.
Priests were the most prominent magic (15), and many people came to
them for help with decisions, love and healing. Divinations were done (16)
there was a major decision to be made, and the results of a (17) were
said to be what the result of a (18) might be. Healers were a valuable
resource, and the priests usually took on the role as (19) as well. They
combined magic with natural (20) techniques that would drive away the
evil that had started the illness. There were also spells and rituals done to help the
general community.

Sub questions

Question Number : 61 Question Id : 7368155113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:

| « Magic
- % Mmystery
=z % music

4 #% '‘mantras’

Question Number : 62 Question Id : 7368155114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:
, = something

> » everything

-  hothing

4 ® all

Question Number : 63 Question Id : 7368155115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:

1 # chance

o  power



- » Mmagic

4 ® music

Question Number : 64 Question Id : 7368155116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:
1 # some

o % any
5 & EVery

4 % each

Question Number : 65 Question Id : 7368155117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:

1 « workers

> % labourers

- » €ngineers

4 % brokers

Question Number : 66 Question Id : 7368155118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:

1 # when

5 w every-time

-  anytime

4 w rarely

Question Number : 67 Question Id : 7368155119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:

,  reading

., » writing



- » Speaking

4 w listening
Question Number : 68 Question Id : 7368155120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the

corresponding Question number;
Options:
, = problem

- % Occasion
2 « situation

4 % event

Question Number : 69 Question Id : 7368155121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding Question number;
Options:
, % doctor

> « healer
= % witch

4 » patient

Question Number : 70 Question Id : 7368155122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding Question number;
Options:
, = Magic-weaving

-  healing

- » praying

, » doctoring

Sub-Section Number: 3
Sub-Section Id: 736815152
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7368155123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is a set of five sentences, numbered 1 to 5, which are not in a meaningful
order. Choose from the options given, the order which will be acceptable and meaningful:

1. He went towards his native village and all fled at his approach. both men and
animals.

2. His owner came up and gave him a sound beating for the fright he had caused.

Fine clothes may disguise, but silly words will disclose a fool.

4. An Ass once found and put on a Lion's skin which the hunters had left out in the sun

to dry.

The proud Ass. in his delight, lifted up his voice and brayed. and then everyone

knew him.

st

L

Options:
| % 45132

> ® 4.5.1,2.3

-2

2 o 41,5.2.3

4 41235

Question Number : 71 Question Id : 7368155123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5, which are not

in a meaningful order. Choose from the options given, the order which will

be acceptable and meaningful:

1. He went towards his native village and all fled at his approach, both
men and animals.

2. His owner came up and gave him a sound beating for the fright he
had caused.

3. Fine clothes may disguise, but silly words will disclose a fool.

4. An Ass once found and put on a Lion's skin which the hunters had
left out in the sun to dry.

5. The proud Ass, in his delight, lifted up his voice and brayed, and

then everyone knew him.

Options:

. ABRES
ou ABTI3
2 41,523
wn 41235



Question Number : 72 Question Id : 7368155124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5. which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful:

1. Afraid for his life. the servant at once escaped to Samarra on a horse and was sure
that there Death will not find him.

2. Death replied that she was astonished to see him in Bagdad as she had an
appointment with him that night in Samarra.

3. A merchant in Bagdad sent his servant to market to buy provisions.

4. Soon the merchant met Death at the marketplace and asked her why she had made a

threating gesture to his servant when she saw him that morning.

The servant came back and complained that Death had looked at him and made a

threatening gesture.

L

Options:
| % 54321,

oo LEZAS
3 o 3.1,5.4.2
4 % 3.5.14.2

Question Number : 72 Question Id : 7368155124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5, which are not

in a meaningful order. Choose from the options given, the order which will

be acceptable and meaningful:

1. Afraid for his life, the servant at once escaped to Samarra on a
horse and was sure that there Death will not find him.

2. Death replied that she was astonished to see him in Bagdad as she
had an appointment with him that night in Samarra.

3. A merchant in Bagdad sent his servant to market to buy provisions.
4. Soon the merchant met Death at the marketplace and asked her why
she had made a threating gesture to his servant when she saw him

that morning.
5. The servant came back and complained that Death had looked at

him and made a threatening gesture.
Options:

1 ® 514:3:2.'.1.'
> % 1,2,3,4,5



- v 31542
4 % 35142

Question Number : 73 Question Id : 7368155125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences. numbered 1 to 5, which are not in a meaningful
order. Choose from the options given, the order which will be acceptable and meaningful:

1. They earn less than their middle-class equivalents because of a ““class ceiling”.

2. There are now relatively few working-class actors compared to the population of
Britain as a whole.

3. Their results paint a disturbing picture of imbalance. and even prejudice, in show
business.

4. A report last week reported that a privately educated elite enjoyed a hugely

disproportionate presence in British professions.

A major academic study released this weekend reveals the British acting industry as

“heavily skewed towards the privileged”.

L

Options:

% 54321
o % 45321
2 W 43251
o0 LEZAS

Question Number : 73 Question Id : 7368155125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5, which are not

in a meaningful order. Choose from the options given, the order which will

be acceptable and meaningful:

1. They earn less than their middle-class equivalents because of a
“class ceiling”.

2. There are now relatively few working-class actors compared to the
population of Britain as a whole.

3. Their results paint a disturbing picture of imbalance, and even
prejudice, in show business.

4. A report last week reported that a privately educated elite enjoyed a
hugely disproportionate presence in British professions.

5. A major academic study released this weekend reveals the British

acting industry as “heavily skewed towards the privileged”.



Options:

;% 9,4,3,2,1
, % 45,321
- v 43,251

4 % 1,2345

Question Number : 74 Question Id : 7368155126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a famous one liner. the words of which are given in groups. in a jumbled
manner. These words are numbered from 1. Identify the correct sequence of numbers from
the options given: {Make sure that the reordered sentence would appeal to the reader}:

if/ it wrong/ too easy/ goes/ vou are doing/ homework
1 2 3 4 - 0
Options:
; % 1.5,6,3.4.2

> % 1.3.24.6.5

2 ¢ 1.64.3.5.2

4 % 654321

Question Number : 74 Question Id : 7368155126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a famous one liner. the words of which are given in groups. in a jumbled
manner. These words are numbered from 1. Identify the correct sequence of numbers from
the options given: {Make sure that the reordered sentence would appeal to the reader}:

if/ it wrong/ too easy/ goes/ vou are doing/ homework
1 2 3 4 - 6
Options:

; » 1,5,6,3.4,2

> w 1,3,2,4,6,5

- o 164352

4 % 654,321

Question Number : 75 Question Id : 7368155127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is a famous one liner. the words of which are given in groups, in a jumbled
manner. These words are numbered from 1. Identify the correct sequence of numbers from
the options given: {Make sure that the reordered sentence would appeal to the reader}:

is/ thinking/conclusion/where vou got tired of/the part/a
1 2 3 4 & 6
Options:

1 o 0.3.1.54.2

> % 6.13.5.4.2
o % LEZAEH
4 % 63.1.524

Question Number : 75 Question Id : 7368155127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a famous one liner, the words of which are given in

groups, in a jumbled manner. These words are numbered from 1. |dentify
the correct sequence of numbers from the options given: {Make sure that

the reordered sentence would appeal to the reader}:

is/ thinking/conclusion/where you got tired of/the part/a
1 2 3 4 o 6

Options:

, » 63,1542
, % 6,1,3,54,2
- % 1,2,3456
o 831524

Question Number : 76 Question Id : 7368155128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given which offer
‘improved’ or corrected versions of this sentence: note that the improvements may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

These irrational, sudden, wild tantrum of John is the limit, I can say!
Options:

, % These sudden. wild. irrational tantrums of John are the limit. I could say!

- « These sudden. wild, irrational tantrums of John are the limit. I must say!

5 % [These wild. irrational. sudden tantrums of John be the limit. I must say!



, % These sudden. wild, irrational tantrum of John are the limit, I must say!

Question Number : 76 Question Id : 7368155128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given which offer ‘improved’ or corrected versions of this sentence; note
that the improvements may range from grammar to usage to native-

speaker use. Choose the option which corrects the sentence completely:

These irrational, sudden, wild tantrum of John is the limit, | can say!
Options:

| % These sudden, wild, irrational tantrums of John are the limit, | could say!

i These sudden, wild, irrational tantrums of John are the limit, | must say!
5 % These wild, irrational, sudden tantrums of John be the limit, | must say!

4 % These sudden, wild, irrational tantrum of John are the limit, | must say!

Question Number : 77 Question Id : 7368155129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given which offer
‘improved’ or corrected versions of this sentence: note that the improvements may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

These amounts of problems that are facing us every day daily will not be reduced by
even one.

Options:

. + Thenumber of problems that we are facing us every day will not be reduced by even one.

> % These amount of problems that are facing us daily will not be reduced by even one.

These number of problems that are facing us every day daily will not be reduced by even
5 ® oOne.

The number of problems that we are facing every day daily will not be reduced by even
4 ® oOne.

Question Number : 77 Question Id : 7368155129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is an ungrammatical sentence and there are four options
given which offer ‘improved’ or corrected versions of this sentence; note
that the improvements may range from grammar to usage to native-

speaker use. Choose the option which corrects the sentence completely:

These amounts of problems that are facing us every day daily will not

be reduced by even one.
Options:
The number of problems that we are facing us every day will not be

reduced by even one.

These amount of problems that are facing us daily will not be reduced by
> % €even one.
These number of problems that are facing us every day daily will not be

- » reduced by even one.

The number of problems that we are facing every day daily will not be

4 » reduced by even one.

Question Number : 78 Question Id : 7368155130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given which offer
‘improved’ or corrected versions of this sentence: note that the improvements may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

“Listen me! These are very slippery steps, so employ them carefuly”
Options:
, = “Listen to me! These are very slippery steps. so use them carefuly.”

>  Listen to me! These are very slippery steps. so use them carefully.”

- % ~Listen me! These are very slippery steps. so use them carefully.”

4, % “Listen to me! These are very slippery steps. so employ they carefuly.”

Question Number : 78 Question Id : 7368155130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is an ungrammatical sentence and there are four options
given which offer ‘improved’ or corrected versions of this sentence; note
that the improvements may range from grammar to usage to native-

speaker use. Choose the option which corrects the sentence completely:

“Listen mel These are very slippery steps, so employ them carefuly”
Options:
, » Listen to me! These are very slippery steps, so use them carefuly.”

.,  Listen to me! These are very slippery steps, so use them carefully.”
5 » Listen mel These are very slippery steps, so use them carefully.”

4 » Listen to mel These are very slippery steps, so employ they carefuly.”

Question Number : 79 Question Id : 7368155131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given which offer
‘improved’ or corrected versions of this sentence: note that the improvements may range
from grammar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

He can be able to help yvou with money if he will want to.

Options:
, % He can to help you with money if he wants to.

- % He Dbe able to help you with money if he will.

- w He will be able to help you with money if he will want to.

4 v Hecan help you with money if he wants to.

Question Number : 79 Question Id : 7368155131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given which offer ‘improved’ or corrected versions of this sentence; note
that the improvements may range from grammar to usage to native-

speaker use. Choose the option which corrects the sentence completely:

He can be able to help you with money if he will want to.
Options:
, = HMe can to help you with money if he wants to.

. » He be able to help you with money if he will.



- » He will be able to help you with money if he will want to.

4 e can help you with money if he wants to.

Question Number : 80 Question Id : 7368155132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given which offer
‘improved’ or corrected versions of this sentence: note that the improvements may range
from gramunar to usage to native-speaker use. Choose the option which corrects the
sentence completely:

It’s best not to loose vour cool when people shout at vou.
Options:
, = It's good not to lose your cool when people shout at you.

> % Its better not to loose your cool when people shout at you.

- o IUs better not to lose your cool when people shout at you.

4 % It’s the best not to lose your cool when people shout at you.

Question Number : 80 Question Id : 7368155132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given which offer ‘improved’ or corrected versions of this sentence; note
that the improvements may range from grammar to usage to native-
speaker use. Choose the option which corrects the sentence completely:

It's best not to loose your cool when people shout at you.
Options:
, = It's good not to lose your cool when people shout at you.

-, » It's better not to loose your cool when people shout at you.
-  It's better not to lose your cool when people shout at you.

4 = It's the best not to lose your cool when people shout at you.

Question Number : 81 Question Id : 7368155133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a sentence which is to be transformed and rewritten as indicated in bracket
and there are four options given. Choose the one which ‘correctly” transforms the given
sentence :

Her chambers had been opened by her guardians and her treasures were looted,
when they were caught red-handed by her. {into active voice}
Options:
Her guardians had opened her chambers and looted her treasures. when she caught them
1 « red-handed.

Her guardians had opened her chambers and being looted her treasures. when she caught
> % them red-handed.

Her guardians had opened her chambers and her treasures looted. when she caught them
3 % red-handed.

Her guardians had opened her chambers and looted her treasures. when they were caught
4, % red-handed by her

Question Number : 81 Question Id : 7368155133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in bracket and there are four options given. Choose the one
which ‘correctly’ transforms the given sentence :

Her chambers had been opened by her guardians and her treasures
were looted, when they were caught red-handed by her. {into active

voice}
Options:

Her guardians had opened her chambers and looted her treasures, when

,  she caught them red-handed.

Her guardians had opened her chambers and being looted her treasures,

> % when she caught them red-handed.

Her guardians had opened her chambers and her treasures looted, when
5 » she caught them red-handed.

Her guardians had opened her chambers and looted her treasures, when
4 » they were caught red-handed by her

Question Number : 82 Question Id : 7368155134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a sentence which is to be transformed and rewritten as indicated in bracket
and there are four options given. Choose the one which ‘correctly” transforms the given
sentence :

You haven’t known him for long ....{Complete by adding a tag-question;
Options:

, ® Youhaven't known him for long. haven’t you?

> % Youhaven't known him for long. do you?
- % You haven't known him for long. are you?

4 + You haven’t known him for long, have you?

Question Number : 82 Question Id : 7368155134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in bracket and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

You haven’t known him for long ...{Complete by adding a tag-question}
Options:
, % You haven’t known him for long, haven't you?

> % You haven't known him for long, do you?
5 % You haven't known him for long, are you?

4 v You haven't known him for long, have you?

Question Number : 83 Question Id : 7368155135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in bracket
and there are four options given. Choose the one which ‘correctly” transforms the given
sentence :

Mary to her young daughter: “Don’t go bevond the red line. You might drown.”
{into Reported speech — capture the intention; use a neutral tone}

Options:

, % Mary told her daughter not to go beyond the red line as she might drown.

Mary warned her daughter not to go beyond the red line as she might drown. if she
- % disobeys her.

Mary cautioned her daughter by telling her not to go beyond the red line and explained to
her the consequences of going beyond the line by telling her that she might drown if she
- % disobeys.



4  Mary explained to her daughter that she might drown if she went beyond the redline.

Question Number : 83 Question Id : 7368155135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in bracket and there are four options given. Choose the one
which ‘correctly’ transforms the given sentence :

Mary to her young daughter: “Don’t go beyond the red line. You might

drown.” {into Reported speech - capture the intention; use a neutral

tone}

Options:

, = Mary told her daughter not to go beyond the red line as she might drown.
Mary warned her daughter not to go beyond the red line as she might

-, % drown, if she disobeys her.

Mary cautioned her daughter by telling her not to go beyond the red line
and explained to her the consequences of going beyond the line by telling

5 » her that she might drown if she disobeys.

Mary explained to her daughter that she might drown if she went beyond
4 + the redline.

Question Number : 84 Question Id : 7368155136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

The police sef up the car thief by using a hidden camera.
Options:
, w The police found the car thief by using a hidden camera.

- « The police trapped the car thief by using a hidden camera.

- % TIhe police tempted the car thief by using a hidden camera.

4 % The police lured the car thief by using a hidden camera

Question Number : 84 Question Id : 7368155136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Read the sentence given below. Pay attention to the
words/phrases/segments in Jjtalics. Choose the appropriate ONE WORD

substitutes for the phrases and clauses Jtalicized.

The police set up the car thief by using a hidden camera.
Options:
, = The police found the car thief by using a hidden camera,

-  The police trapped the car thief by using a hidden camera,
- » Ihe police tempted the car thief by using a hidden camera,

4 % The police lured the car thief by using a hidden camera,

Question Number : 85 Question Id : 7368155137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

His eyes gave away the truth that he would give in and drink again.
Options:
, « His eyes betrayed the truth that he would yield [to the temptation] and drink again.

- u His eyes revealed the truth that he would surrender and drink again.

- % His eyes revealed the truth that he would yield [to the temptation] and drink again.

, = His eyes betrayed the truth that he would swrrender and drink again

Question Number : 85 Question Id : 7368155137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the

words/phrases/segments in Jfalics. Choose the appropriate ONE WORD

substitutes for the phrases and clauses jtalicized.

His eyes gave away the truth that he would give in and drink again.
Options:

His eyes betrayed the truth that he would yield [to the temptation] and
| drink again.

. » His eyes revealed the truth that he would surrender and drink again.

His eyes revealed the truth that he would yield [to the temptation] and

5 % drink again.



, » His eyes betrayed the truth that he would surrender and drink again

Question Number : 86 Question Id : 7368155138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. ¢. and d. One of
these parts contains an error. Choose the part that has the error:

There is no / specific hard-and-fast rules/ for keeping money/ in a bank.
A B C D

Options:
1 % A
o« B
3. % C
4. % D

Question Number : 86 Question Id : 7368155138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a, b, c,

and d. One of these parts contains an error. Choose the part that has

the error:

There is no / specific hard-and-fast rules/ for keeping money/ in a bank.
A B C D

Options:

1 % A
> v B
z % C
4 % D

Question Number : 87 Question Id : 7368155139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a, b. c. and d. One of
these parts contains an error. Choose the part that has the error:

Have the guests/ ate / their / dinner?
A B C D

Options:
1 ® A
2.« B
3 % C



4 % D

Question Number : 87 Question Id : 7368155139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a, b, c,

and d. One of these parts contains an error. Choose the part that has

the error:

Have the guests/ ate / their / dinner?
A B C D

Options:
1w A
2« B
T W C
4% D

Question Number : 88 Question Id : 7368155140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. c. and d. One of
these parts contains an error. Choose the part that has the error:

What is Hecuba/toI/and I/ to Hecuba? {Forget Shakespeare!}
A B C D

Options:
1 #® A

>« B
z % C
4 % D

Question Number : 88 Question Id : 7368155140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a, b, c,

and d. One of these parts contains an error. Choose the part that has

the error:

What is Hecuba/ to | / and | / to Hecuba? {Forget Shakespeare!}
A B C D

Options:

1_$3A



>« B
3_%':
4% D

Question Number : 89 Question Id : 7368155141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

Asa vou should always pay for your guest’s dinner.

Options:
, w token of courtesy

o #® part of manner

= % host of the dinner

4 « 1le of thumb

Question Number : 89 Question Id : 7368155141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given.

As a you should always pay for your guest's dinner.

Options:
, = token of courtesy

. % part of manner

= # host of the dinner

4 « rule of thumb

Question Number : 90 Question Id : 7368155142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

He’s learned where the college is but is still with evervthing else

Options:
, w clbowing his way

5 of finding his feet

- % testing with his thumbs



4, % smelling his way around

Question Number : 90 Question Id : 7368155142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given.

He's learned where the college is but is still with

everything else
Options:
, = elbowing his way

-  finding his feet
- » testing with his thumbs

4 » smelling his way around

Question Number : 91 Question Id : 7368155143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

Don't the hand that VoIl
Options:

 w feed; bite

5 « bite; feed

5 % hold; beat

4 % beat; hold

Question Number : 91 Question Id : 7368155143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words that

will fill in the blanks:

Don't the hand that you.
Options:

w feed; bite

i
>  bite; feed

5 = hold; beat



, = beat; hold

Question Number : 92 Question Id : 7368155144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

A friend to is a friend to "

Options:
, w» anybody: somebody

> % somebody: everybody

-  everybody: nobody
4 % everybody: somebody

Question Number : 92 Question Id : 7368155144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words that

will fill in the blanks:

A friend to is a friend to

Options:
, = anybody: somebody

-, » sSomebody; everybody

-  everybody; nobody

4 = everybody; somebody

Question Number : 93 Question Id : 7368155145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Modern
Options:
L= Stylish

> x Existing

-  Contemporary

4 % Current



Question Number : 93 Question Id : 7368155145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Modern
Options:

, = Stylish

- » Existing

-  Contemporary

4 % Current

Question Number : 94 Question Id : 7368155146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Crime
Options:

1 % Mistake
> % FError
=z % Howler
4 « Offence
Question Number : 94 Question Id : 7368155146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Crime
Options:
1 = Mistake

> % Error
=z # Howler

4 « Offence

Question Number : 95 Question Id : 7368155147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Influence

Options:
1 « Power

> % Manipulate
5 » Authority

4 % Pressure

Question Number : 95 Question Id : 7368155147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Influence
Options:
1 « Power

> » Manipulate
- » Authority

4 % Pressure

Question Number : 96 Question Id : 7368155148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonymy} of the key word:

Defective
Options:
1 +« Functional

> % Ideal
3z % Effective
4 % Correct

Question Number : 96 Question Id : 7368155148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the

contradictory or opposite meaning {antonym} of the key word:

Defective



Options:
1 « Functional

- % |deal
- # Effective

4 % Correct

Question Number : 97 Question Id : 7368155149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym;} of the key word:

Deny

Options:
| fsecept

- % Concur
z % Confirm

4 % Accede

Question Number : 97 Question Id : 7368155149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the

contradictory or opposite meaning {antonym} of the key word:

Deny
Options:
. « Accept
- # Concur
z % Confirm
4 % Accede

Question Number : 98 Question Id : 7368155150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly.

Options:
|  Adlege

- % college
- % privilege

4 % sacrilege



Question Number : 98 Question Id : 7368155150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a set of four words. One of the four words is spelled
wrongly. Choose the word that has been spelled wrongly.

Options:

,  alege

-, » college
- » Pprivilege

4 w Ssacrilege

Question Number : 99 Question Id : 7368155151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly.

Options:
1 % detainee

- % examinee
5 % nominee

4 « treinee

Question Number : 99 Question Id : 7368155151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled

wrongly. Choose the word that has been spelled wrongly.
Options:
1 = detainee

> #% examinee
= % hominee

4 « treinee

Question Number : 100 Question Id : 7368155152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. Choose the word with the correct spelling:

Options:
, w» fourego
> % foarefather

=z % fourehand



4 « forehead

Question Number : 100 Question Id : 7368155152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. Choose the word with the correct

spelling:
Options:
, = fourego

> % foarefather
= % fourehand

4 « forehead

General Intelligerice

Section Id : 736815101

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 50

Number of Questions to be attempted: 50

Section Marks: 50

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815153
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7368155153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The elevation angle of a ladder leaning against a wall is 30° and the foot of the ladder is
8.5 meter away from the wall. What will be the length of the ladder?

Options:
1 % 2.88m

> o 9.81m
= % 06.99m
4 % 10m

Question Number : 101 Question Id : 7368155153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T T &1 SER ¥ 3437 o7 30 23 & 38y @dr 1 3w (Base) AR ¥
8.5 Hrex #T gff W | Wér & F=rg FAT e



Options:

% 2.88 #Hex
> « 9.81 Hiex
5 % 6.99 HET
L % 10 #rex

Question Number : 102 Question Id : 7368155154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What will be the greatest number which will divide 49, 343 and 308?

Options:
1 % 49
> % 43
3¢ 7
4 ® 21

Question Number : 102 Question Id : 7368155154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

49,343 3T 308 I TTad 3 I IY T2 TEAT Hid T 27
Options:

1 % 49‘
oow 43

3¢ 7
4 ® 21

Question Number : 103 Question Id : 7368155155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If P stands for +. Q stands for -, R stands for X, S stands for > and T stands for =. then
which one of the following is true?

Options:
{ % B4S12R9

>« 1TR4S14R 4
. % 15P6T12Q5
4 % 6R5T5RS

Question Number : 103 Question Id : 7368155155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



T PFRUT +Foamrgary QF T - FT AT EaT &, R & fow %
FIATEAT S, S &F T > FT IIRT gar g 3 T & T|w '=' & 93997 g
g, AT § ¥ 39 O g 27

Options:

% 84 S12R9
-v17R4S14R 4
% 15P6T12Q5
.« B6R5T5RS

Question Number : 104 Question Id ;: 7368155156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If Aeroplane is denoted by Car, Car is denoted by Lollipop. Lollipop is denoted by Sky

and Sky is denoted by Rocket then which one of the following is sweet in taste?
Options:
, » Lollipop

- % Rocket
5 w Aeroplane

4 "31('}’

Question Number : 104 Question Id : 7368155156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T AT 3T FIT, FIX FT ATNGIT, STeNGT T T HIT HTFT Fr The
FEl T g, af Aad 5 ¥ Fi9 3 = & Her gar 22

Options:

| w STedT
> % TIhE
g_uﬁ?ﬂﬁ'
4 " TR

Question Number : 105 Question Id : 7368155157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If paper is termed as car. car is termed as pipe. pipe is termed as speaker and speaker 1s
termed as copy then which one of the following is used to play songs?

Options:
, % Speaker

2 v Copy

- % Pipe



4 % Car

Question Number : 105 Question Id : 7368155157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TfE FES FT FR, FR F IS, ST FI THFT 3T THFT FT FET Fa1 AT
T o e T3 ¥ for fefae § ¥ TFuer o o s 22

Options:

1_uFCﬁW
ggﬁtﬁ-
.« 989
4_¥$m

Question Number : 106 Question Id : 7368155158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If 4 boys can complete a work in 15 days. How many boys are required to do the same
work in 12 days?
Options:
| « 3 boys

o ® 1bOys
- % 8Dboys

4 ® 2Dboys

Question Number : 106 Question Id : 7368155158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

4 5% 15 f&ar 7 TF FH F W F Fhd g, A 34T FH I A T8 12
fgar & @ &

Options:

1 v 5 TEH
z.ﬁ?m
3.53833#
% 2 SR

4

Question Number : 107 Question Id : 7368155159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If speed of a train is 23 kmph. how much time it will take to cover a distance of 184 km?
Options:

1 % 300 minutes



> « 480 minutes
= % 700 minutes

4 % 120 minutes

Question Number : 107 Question Id : 7368155159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ofg v o aify 23 R /ger g, o ag 184 AL & gy av = F v

ERGIRE:E: L
Options:

. % 300 fA=e
. v 480 e
5 % 700 e
L % 120 fBee

Question Number : 108 Question Id : 7368155160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Compute the following
123+45%+64°—56°=7
Options:

, % 8709

> o 3408

5 % 3345

4 % 1234

Question Number : 108 Question Id : 7368155160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T=fefaa i e =3
12°+48%+647-56*=7?

Options:

. % 8709
- « 3408
s % 3345

4 % 1234

Question Number : 109 Question Id : 7368155161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute the following
456/234+456/345+123/145=?

Options:



; % 78.23
> % 6.90
3 o 4.118
4 % 5.89

Question Number : 109 Question Id : 7368155161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
F=fofaa i soEr F:U
456/234+456/345+123/145="7

Options:

| % 78.23
. % 6.90
s v 4.118
. % 5.89

Question Number : 110 Question Id : 7368155162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If quotient is 8892, divisor 15 6678 and remainder is 5 then what will be the dividend?

Options:
1« 59380781

> % 44567891
5 % 5938077
4 % 67897653

Question Number : 110 Question Id : 7368155162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TTE 9T9TReT 8892 &, 6678 HTAF 7 3T 9w 5 &, ar H=T FT geEm?
Options:

| v 59380781
. » 44567891
. = 59380776
., = 67897653

N

Question Number : 111 Question Id : 7368155163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Compute the following
123424+2232+2X1234X223=7
Options:

1 ® 3453423



o « 2122849
s % 1667894
4 % 2322349

Question Number : 111 Question Id : 7368155163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Feafotag #r 7oEr 1
1234%+223%+2x1234x223="

Options:

| % 3453423
. v 2122849
. % 1667894
L % 2322349

Question Number : 112 Question Id : 7368155164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sachin went to cricket classes. He now plays for his state Ranji team as an opening
batsman. He might be

Options:
, % doing good in fielding in the classes

- % ason of Ranji's bowling selector

-  Playing good as a batsman in cricket classes

4 % asubstitute for a batman in the cricket classes

Question Number : 112 Question Id : 7368155164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

afee BFehe FT8T H AT 2] 98 39 U AT Sooarsd & &9 H 77 Fr
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Options:
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Question Number : 113 Question Id ;: 7368155165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Ravi took admission in a competitive exam preparatory class. He is now studying as well
as teaching in the class. Which of the following situations led him to take such a decision

Options:
, % Hewants to teach rather than get selected in any competition
- % He wants to manage fees for his study

- % Heis financially sound

4  Teaching will make his concepts strong which will help him in competitions

Question Number : 113 Question Id : 7368155165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T & v gfaaet gier Fr Jardr & B Far & i@ @ 39 98 Far 7
H=ST TIE W 3eTTA FT @ & HIT 32q9F F T H g1 off | 2
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Options:
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Question Number : 114 Question Id : 7368155166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Vice Chancellor introduced the new system of examinations in the University. What
might be a possible cause for such a decision

Options:
, w Hels interested in trying new systems for examination

> % Thenew system is costlier than the previous one

=  Thenew system is much more effective than the previous one

4 % The University needs a change.

Question Number : 114 Question Id : 7368155166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fordia & freafagarera # lemst Fr 75 JUTSr Hr YTIHTT H| TH TWE F
Ao & forr geanfag sror #72r & gwar 2
Options:
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Question Number : 115 Question Id : 7368155167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rishabh and Ankit are close friends. Two months ago, Ankit borrowed some money from
Rishabh without telling him the actual reason. Now Rishabh comes to know that Ankit
invested the money in illegal activities and lost it. Ankit now refuses to give money and
Rishabh needs it. What would Rishabh do in such a case

Options:
, w» Beatup Ankit

> % Report the scenario to the police

5 o Talk to Ankit first and then go to the police seeking help

4 = Won't do anything

Question Number : 115 Question Id : 7368155167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U AR T FOEr aiea 81 & 7 Tge, Hihd & IEaias FRUT §910
e %wsT ® Fo T4 FuR T 319 Hwey F qaT T @ JHihd 7 Iy
afafafeat 7 Sar fFaer frar o iR 991 39 ) e AT F S o ® A
FT e, IS wwer Fr Tt Ff I &1 HEH F ST ATHS F AT FLAT
eT?

Options:

| » 3T #r Arer @fge
. $H TAT FI IO H G FIET AR

Blwmm#mmaﬁvﬁwgﬁﬂaﬁwmm
i Fo 4T FA2T FET TA1RT

=

Question Number : 116 Question Id : 7368155168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

You are a doctor's son. Your father wants you to become a doctor. You have qualified for
the MBBS enfrance examination but you are not interested in Medical studies. What will
you do

Options:

, % Youwill try to develop your interest in Medical studies



o  Youwill talk to your father on this matter and tell him about your field of interest

- % You will not say anything as each of your life's decisions have been taken by your father

4 % Youwill run away from the home and pursue your dreams

Question Number : 116 Question Id : 7368155168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HT TF FeT F a¢ 21 HTF Oar J9aH TF e 97T Iga &1 H9
TH.SA.TE. 93T g gy 1 2, dAfea 30 AFwe Fr g F Temedh 76y
@A | AT FT FEE07?

Options:

|« I ARES T TR H HUA Hr o FFEHa w3 @ SR w6
, » HTT SH ATAS H 30 ar & a9 FE7 3R 39 feor=er e

T Fo o FE HET FiE AT Seeel F 'R Fad aaes Oar F & o
3&&%
HT H9 HIAT & G FT & &0 8T DI FT ST AT

4 %

Question Number : 117 Question Id : 7368155169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You are a constable. You observe some terrorist activities near your home. What will you do

Options:
1 % Go and Arrest them

> % Ask for help from your army friend
-  [lell the scenario to your higher authorities

4 % Letithappen

Question Number : 117 Question Id : 7368155169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HTT TF gIoleR 21 AT IS o & U0 $T Fdeardl aifafafaar i S@r g
HIT FIT FLE7?
Options:

| % 3¢ e PREAR &HEr
, w HI FT W ASE o Al WAT H §
_ o T 3 AR F5W A9 F 9% F gRd w8




Question Number : 118 Question Id : 7368155170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

You have seen a tourist who is capturing photos at a tourist place using a drone camera.
What would you do

Options:
1 # Let him do what he wants

- % Go and stop him doing this
-  [lell the scenario to the concerning authorities

, % Tell him to capture a selfie with you

Question Number : 118 Question Id : 7368155170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HT & UF IIF H WM AT TF 89 FAT FT STIATT FF a9 T Fr
TENT oF TET g T FAT FLE

Options:

| % S 98 T @ g 3 F g

> % 3§ FTHT Ueher

. » 30 BT 7 gefaa sfdeiat #r aaresr

, % 3T 38 39T T TF Hoh! ot & [0 FHeer

Question Number : 119 Question Id : 7368155171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Your daughter is a victim of eve teasing. What would you do in such a case

Options:
, ® Your with your sons go and beat the boys who are doing eve teasing

-  Go to the police with a mob and pressurize them to take a quick action against it

- % Eveteasing is a trend. Let it happen

, = Tell your daughter to travel through a different route

Question Number : 119 Question Id : 7368155171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

quﬁraﬁma:rﬁa:ngé?l HT 5§ 98 & AHS H F1 FE7
Options:

| % AT IS 9 F TTY T TSOIE FI Irol TSRl HI HIGT

HT Fga ¥ S F T IO F 9@ A AR gHe [Fers ofrer HrEmr
. T & T 39 W ga STeler
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Question Number : 120 Question Id : 7368155172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Statement: A thing of beauty is a joy for lifetime

Argument 1: Beauty lies in eyes of the person
Argument 2: There is nothing beautiful in the world

Options:
L ® Argument 1 is strong
5 % Argument 2 is strong

5 % Boththe Arguments are strong

4 « Neither of the Arguments are strong

Question Number : 120 Question Id : 7368155172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fu: Hed fad X F B v g
g 1 : iy =afeg $r @ # R &
H%Z:gﬁmﬁ@aﬁgrm?lﬁ?
Options:

Thad il

" % 2 ASEd €
. x Ol Tk HeTgd §
, o P18 1 OF ForE A

Question Number : 121 Question Id : 7368155173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Statement: The subsidy on the LPG cylinders have been reduced by the government
Argument 1: Reducing subsidies will lead to agitation amongst the society
Argument 2: Whatever the government do is for the betterment of the society
Options:

| = Argument 1 is strong

o o Argument 2 1s strong

- » Boththe Arguments are strong

, % Neither of the Arguments are strong



Question Number : 121 Question Id : 7368155173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FueT: W T WSt W aowd, TWER AR FH #T & TS &

9% 1 : OeHsr &8 Fa ¥ AT H WY Hr AgGar 371 gefr
TF 2 ;S off GTFER FT W@ E, gET Froows F RBw

Options:
o g% 1 AT §

E_Jﬁzw%
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Question Number : 122 Question Id : 7368155174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Statement: The CBI solved the 9 years old Panipat Murder case

Argument 1: CBI is very efficient

Argument 2: There was lack of evidences which led the case to a 9 years delay
Options:
L= Argument 1 is strong

o  Argument 2 is strong

- % Boththe Arguments are strong

4, % Neither of the Arguments are strong

Question Number : 122 Question Id : 7368155174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FUF: WALNES. F 9 I AT IA9d T FH AHT oz for

% 1 "@raram. g & FAS )

deh 2 : HAl H FAT & FROT WLALAE. FF 9 IY FT AT
Options:
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Question Number : 123 Question Id : 7368155175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Statement: There is a mass agitation against the Reservation Policy in the nation

Argument 1: The Reservation Policy in the nation needs to be altered
Argument 2: Nation's people have nothing to work on.

Options:

| Argument 1 1s strong

5 % Argument 2 is strong

- » Boththe Arguments are strong

, % Neither of the Arguments are strong

Question Number : 123 Question Id : 7368155175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FUT : T H HRETT AT F WA v a9+ e = & &

T 1 o F Hweror Afy W aREdT fT T ¥
T 2 ;e & A & 9w 3R Fo FH A4
Options:
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Question Number : 124 Question Id : 7368155176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Statement: The automobile company Eicher visited just 3 colleges for campus placements
this year

Argument 1: There is a serious downfall in automobile sector
Argument 2: Eicher is not interested in Indian students
Options:

| Argument 1 is strong

5 % Argument 2 is strong

5 % Boththe Arguments are strong

4, % Neither of the Arguments are strong

Question Number : 124 Question 1d : 7368155176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 125 Question Id : 7368155177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Rahil's sister Vibhuti is the sister of Mitul and Vatsalya. Mitul who is the son of Varun is
the father of Surabhi. Who is Rahil to Surabhi?

Options:

1 % Maternal Uncle

> % Brother-n-law

= % Brother
4

« Paternal Uncle

",

Question Number : 125 Question Id : 7368155177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Tfge #r w8 Reifa, Age 3 acwew @ 977 &1 Bge, S & awor @ aer
g, T & fer 71 ke @I #7182

Options:
, = HAMAT (Maternal Uncle)

2 % aﬁ?ﬁ% (Brother-in-law)

3 % TS (Brother)

4 I (Paternal Uncle)

Question Number : 126 Question Id : 7368155178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rahul is the the brother of Husband of Himanshu's sister. Who is Rahul's father to
Himanshu's sister's daughter

Options:



1 % Father-in-law
> « Grandfather

%z % Maternal Uncle
4 % Father

Question Number : 126 Question Id : 7368155178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

g Ty #r g & ofy # aw ¥ Ry f ggT Fr & F w@ge F Bar
T FAT Near &2

Options:

: HHY (Father-in-law)

-  dlal (Grandfather)

5 % HAT (Maternal Uncle)

4 % frar (Father)

Question Number : 127 Question Id : 7368155179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Rudraksh is the son of the only daughter of Himanshu's brother. Who is Himanshu to
Rudraksh's mother?

Options:

1 % Grandfather

> % Maternal Uncle
= « Paternal Uncle

4 % Brother

Question Number : 127 Question Id : 7368155179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TETeT TRATY & 85 & Tehalldr aer HT <1 g1 TEET A § fEATY FoFA
frear &7

Options:
, = oIar (Grandfather)

5 % AT (Maternal Uncle)

- = (Paternal Uncle)

4 % TS (Brother)

Question Number : 128 Question Id : 7368155180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



The father of Mukesh is the son of Rajeev's only daughter's mother. Who is Mukesh to
Rajeev
Options:

1 % Cannot be determined

> « Grandson
= ® Son
4 % Father

Question Number : 128 Question 1d : 7368155180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hqper & e, TSl @ swalldr a8 F A F 9 8| [T & JRer FH oFAT
Rear 82

Options:

|« Toenfa 7@ fFar o wehar
. 9T (Grandson)

o % ST (Son)

, ® T9ar (Father)

Question Number : 129 Question Id : 7368155181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Mahesh's wife Tanya is the daughter-in-law of Rekha's father. Rekha's son is
the of Mahesh

Options:
1 % Son

- % Brother-m-law
= % Brother
4  Nephew

Question Number : 129 Question Id : 7368155181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
MU AT A W F R A AT mrE _ F

Options:

| % &2T (Somn)
o ® ﬁﬁ?ﬂ% (Brother-in-law)

3 % TS (Brother)
4 ST (Nephew)



Question Number : 130 Question Id : 7368155182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In the given alternatives, one of the numbers is dissimilar from the other given alternatives.
Find the one which 1s dissimilar

Options:

1 23

oow 37
4. ¢ 21

Question Number : 130 Question Id : 7368155182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o 7Iv Toredl # ¥ 15 s TET 3T 9900 ¥ e 8, 39 3T &
AT F

Options:

1 23
o R 3?
I ® 39‘

4« 21

Question Number : 131 Question Id : 7368155183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the odd one out from the given alternatives

Options:

, % USB

> « Motherboard
=z % Pen Drives
4 % Keyboard

Question Number : 131 Question Id : 7368155183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

for o7 Bedt § ¥ e 719 &1

Options:

2w O FTEd
4_3& ﬁ-ﬂ%



Question Number : 132 Question Id : 7368155184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of following keywords/phrases differ from the others in the given options

Options:
L% MNQ

> % UVY
. % PQT
4 v DEG

Question Number : 132 Question Id : 7368155184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fFrafafea e eci/aEmt & & #iF @ [FweT ga & e 27
Options:

1 # MNQ

> % UVY

- % PQT

. v DEG

Question Number : 133 Question 1d : 7368155185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In the given alternatives, one of the numbers is dissimilar from the other given alternatives.
Find the one which 15 dissimilar

Options:

1 ® 121

5 o 144
3 % 154
4 % 165

Question Number : 133 Question Id : 7368155185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T ov et 7 ¥ #:1T v gE=wr 377 Feear ¥ fOew &, 37 s g
ST T &7

Options:

L % 121
. 144
2 % 154
L, % 165




Question Number : 134 Question Id : 7368155186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd one out from the given alternatives

Options:
1 % Smriti Irani

> % Sushma Swaraj

- « Shivraj Singh Chouhan

, » Rajnath Singh

Question Number : 134 Question Id : 7368155186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T oiv Femr 7 ¥ e 99 &+

Options:

| x T S

i QFTETEI'

5 v RIS R Ste
. » Ty faE

Question Number : 135 Question Id : 7368155187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the odd one .
Options:

1. P T

o % B

z ¢ E

4 % D

Question Number : 135 Question Id ;: 7368155187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
F=fRT 7 9 @ & 73949 #:1 :
Options:

i
> % B
zv E
4 % D

Question Number : 136 Question Id : 7368155188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
What will be the next figure?

. IANES?

Options:

L]

=
®

500

ra
8

4

Question Number : 136 Question Id : 7368155188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3ETT HTHIa 4T grefr?

JAED

L]

Options:

P2 —
b ¢

W
#

B OBV

4.v

Question Number : 137 Question Id : 7368155189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the next figure

POFD - OODP

Options:
1. ¢
o %

| B

L%

5 ®

N —

4 W



Question Number : 137 Question Id : 7368155189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3Tl TR T =TTA B

OGP - OoDP

Options:
1 ¢ 2
5 # 3
z % 1

4 % 4

Question Number : 138 Question Id : 7368155190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the next letter of the given series

T NES?

Options:
1.¢ S

2.$3T
3_231:'1
4. % O

Question Number : 138 Question Id : 7368155190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

&I IS WA T HIAT 9 AT P

[ NE=% P
Options:
1 ¢ S
5 ® T
= % A

4.&50

Question Number : 139 Question Id : 7368155191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Choose the next letter of the given series
M. T,W.T.F.S,

Options:
L ow Q
2 & S
o W 24
4 % B

Question Number : 139 Question Id : 7368155191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

&Y IS HWAT FT 3T 9g AT Friad
MITWITES. .

Options:

1 % Q
2« S
3z % R
4 % B

Question Number : 140 Question Id : 7368155192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the missing term.
6,35.31.60. 85,81
Options:

1. ¢

L

6
5

LA

o R
ST ] 67
Ly w TS

Question Number : 140 Question Id : 7368155192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
el eI T/ 9 AT &+
6,35,31,60.,.......,85,81

Options:

1.« 56
> % bb
=z % 67
4 % 78

Question Number : 141 Question Id : 7368155193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Find the missing term.
0,5.2,10,4,15.6, 83,25

Options:
1 *® 13

o W 11
z « 20
4 W 21

Question Number : 141 Question Id : 7368155193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

a1 feam T 92 AT #
0,5,2,10,4,15,6.,......,8,25
Options:

1 % 13

oow 11

4 ® 21

Question Number : 142 Question Id : 7368155194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the missing term.
0.3.5.28, 608403

Options:
, % 678843

> % 1124
5 % 56890
4 & 780

Question Number : 142 Question Id ;: 7368155194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
el &I T1T 9 AT &+
0,3,5,28,......,608403

Options:

| » 678843
- % 1124

= % 56890
4 o 780



Question Number : 143 Question Id : 7368155195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the missing term.

530.486.442.402, 314
Options:

1 ® 400

> o 35
4

5

L)
| B

o ®

(%)
=

d. %

Question Number : 143 Question Id : 7368155195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
el fam T/ 9 AT Y
530,486,442, 402,........,314

Options:

, % 400
. » 358
2w 341
. % 350

Question Number : 144 Question Id : 7368155196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Five girls are sitting in a row. Seema 1s right of Rajni and left to Geeta. Aneeta is sitting
left to Rajni. Arti is between Rajni and Aneeta. Who is sitting in the middle of the row?

Options:
1 ® Geeta

-~ % BSeema

5  Rajni

4 % Aneeta

Question Number : 144 Question 1d : 7368155196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9= TSf3aT U Fa H 3 g1 WA 4T & S 987 g HR ar F ard 198
g AT T & 9T 3 3| WA, THAT WY A F 9 F 8 g FAX F
= J FiT o 2

Options:

La.s?ﬁﬁT
g_um



4_%&3‘1??1(_'”

Question Number : 145 Question Id : 7368155197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the missing term.
2.9.28.65, 217

Options:

1 % 121
> % 163
= % 200

i 126

Question Number : 145 Question Id : 7368155197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

el f&ar s1ar 9 A9+
292865217

Options:

, % 121

> % 163

2 ® 200

4 128

Question Number : 146 Question Id : 7368155198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the missing term.
12.60.300.1500,

Options:
1 & 7500

> % 2500
s % 3500
4 % 6500

Question Number : 146 Question Id : 7368155198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
el fam T/ 9 AT Y
12,60,300,1500.,..........

Options:

.« 7500



- % 2500
- = 3500
, = 6500

Question Number : 147 Question 1d : 7368155199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the missing term.
91.82,73.64, 46.37.28.19

Options:
1 & 54
o oo 55
6

L

= W
4 ® 58

Question Number : 147 Question Id : 7368155199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fgr & 7rar 98 AT F1
91.82.7364.... .. .,46,37.28,1S

Options:

, = 54
> « 55
z % b6
4 % D8

Question Number : 148 Question Id : 7368155200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If quotient 1s 1236, divisor i1s 6654 and remainder is 11, then what will be the dividend?

Options:
1 ® 23456

6
> % 5643387
3 « 8224355
4 % 8875462

Question Number : 148 Question Id : 7368155200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TN HAETH 1236 §, HIle 6654 ¢ 3T 9w 11, ar #=7 41 22

Options:

| % 2345663
. % 5643387




- » 8224355
., = 8875462

Question Number : 149 Question Id : 7368155201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Compute the following
6678X32—56+778/34—674
Options:

1 « 212988.8824

> % 675433.9
5 % 789654
4 % 6536.1123

Question Number : 149 Question Id : 7368155201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A=t & soer +=:1
6678x32-56+778/34-674

Options:

1 v 212988.8824
, % 675433.9

. % 789654

4 % 6536.1123
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Question Number : 150 Question Id : 7368155202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Compute the following
(1009)*+(98 )

Options:

1 ® 667095

> % 786543
5 « 1027685
4 % 9986534

Question Number : 150 Question Id ;: 7368155202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT Fr 0T F:T
(1009)3+(98)?

Options:

. % BB7095



. % 786543

z « 1027685
4 % 9986534
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Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 7368155203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Dandi March’ in India is related to one of the following.

Options:
1 « Civil Disobedience Movement

> % Quit India Movement

=z % Bhoodhan Movement

4 % Non-Cooperation Movement

Question Number : 151 Question Id : 7368155203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 152 Question Id : 7368155204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Who suggested the idea of ‘Preamble” for Indian Constitution?
Options:
1 % Sardar Patel

5 % M.N.Roy
= « Jawaharlal Nehru

4 % Mahatma Gandhi

Question Number : 152 Question Id : 7368155204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 153 Question Id : 7368155205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘Who was the first speaker of Lok Sabha?
Options:

, # MA. Ayyangar

> % Sardar Hukum Singh

- » Neelam Sanjeeva Reddy

4 « G.V.Mavalankar

Question Number : 153 Question Id : 7368155205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 154 Question Id : 7368155206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Who is considered as father of Indian Constitution?
Options:
1 % Jawaharlal Nehru

> % Mahatma Gandhi
= « B.R.Ambedkar

4 % MNRoy

Question Number : 154 Question Id : 7368155206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 155 Question Id : 7368155207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who was the first woman member of Rajya Sabha?

Options:

, % JayaBadhuri
5  Nargis Duit
=z % Hema Malini

4 % Madhubala

Question Number : 155 Question Id : 7368155207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 156 Question Id : 7368155208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



The actor with most nominations for Film fare award in the category of best actor 1s?
Options:

1 « Amitabh Bachchan

> % Salman Khan

- % Dilip Kumar

4 % Sanjay Dutt

Question Number : 156 Question Id : 7368155208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 157 Question Id : 7368155209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the first Indian to win OSCAR award?
Options:

, = Satyajit Ray

-  Bhanu Athaiya

=z % ARRehman
4 % Naseeruddin Shah

Question Number : 157 Question Id : 7368155209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 158 Question Id : 7368155210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Which of the following awards is given for best feature film on National Integration?

Options:
. « Nargis Dutt Award

5 #® Grammy Award
- % Dhronacharya Award

4 # Ashoka Chakra Award

Question Number : 158 Question Id : 7368155210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 159 Question Id : 7368155211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the first sports personality to receive Bharat Ratna Award?
Options:

1 % Sir Donald Bradman

- % Dhyan Chand

- » Milka Singh

4 + Sachin Tendulkar

Question Number : 159 Question Id : 7368155211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 160 Question Id : 7368155212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the first Indian woman to win the crown of *MISS WORLD'?
Options:

, w Aishwarya Rai

- « Reita Faria

3 % Sushmita Sen

, % Diana Hayden

Question Number : 160 Question Id : 7368155212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 161 Question Id : 7368155213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the author of the book ‘The Road Ahead’?
Options:

, » Rajest Pilot

- % AP.J. Abdul Kalam

= % Robin Sharma

4 « Bill Gates

Question Number : 161 Question Id : 7368155213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 162 Question Id : 7368155214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the author of the book ‘Panchatantra’?
Options:

1+ Vishnu Sharma

- % Tulsidas

= % Sur das

4 % Meera Bhai

Question Number : 162 Question Id : 7368155214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 163 Question Id : 7368155215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The famous book ‘A Suitable Boy” is written by

Options:
, » Govindhan Kutty

- % Khushwanth Singh

5 % R.K Naravan

4 « Vikram Seth

Question Number : 163 Question Id : 7368155215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T YIS T FAHAF S TEAF F oNGH BT 67
Options:

2 Mt Far
g %‘ﬂﬁﬁﬁ%’

5 % AR, &F. FARIOT



Question Number : 164 Question Id : 7368155216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The famous book ‘Malgudi Days” was written by
Options:

 « REK.Narayan
- % Vikram Seth

- % Kushwanth Singh

4 % Mahadevi Varma

Question Number : 164 Question Id : 7368155216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 165 Question Id : 7368155217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which India poetess is regarded as ‘Modem Meera’?
Options:

L ® Sarojini Naidu

> « Mahadevi Varma

- % Vijayalaxmi Pandit

4 % Shanta Bai

Question Number : 165 Question Id : 7368155217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 166 Question Id : 7368155218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The traditional ‘Bharatanatyam’ dance is originated from?

Options:

1 « Tamil Nadu

> % Kerala

= % Andhra Pradesh

4 % Karnataka

Question Number : 166 Question Id : 7368155218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 167 Question Id : 7368155219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the traditional Indian dance is originated from Gujarat?

Options:
1 % Kathak

> « Garba
= % Bardo Chham
4 % Bihu

Question Number : 167 Question Id : 7368155219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ferafafed & & fFg TREIRE 9RAY 7cd F 3H T H g 87

Options:
1 ® chilsh

5 & TRET
5 % X3 OH




T

Question Number : 168 Question Id : 7368155220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
On the bank of which of the following river the Karachi city is situated?

Options:
1 « Indus

5 % Ganga

= % Chenab
4 ® Tagris

Question Number : 168 Question Id : 7368155220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 169 Question Id ;: 7368155221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tamil is the major language for the Country.
Options:
1 ® Samoa

- % Thailand
5 Slngapore

4 % Cyprus

Question Number : 169 Question Id : 7368155221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 170 Question Id : 7368155222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who designed the ‘Rock Garden’ in Chandigarh?

Options:
1 « Nek Chand

- % Prem Chand
=z % Ravi Verma
4 w George Thomas

Question Number : 170 Question Id : 7368155222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 171 Question Id : 7368155223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The famous tourist spot ‘Rohtang Pass’ is located in?
Options:

1 #® Surat

> % Jodhpur

= « Manali
4 % New Delhi

Question Number : 171 Question Id : 7368155223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 172 Question Id ;: 7368155224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following fruit is known as ‘Pride Fruit of India’?

Options:
1o Mango

> % Water Melon
- = Apple

4 ® Strawberry

Question Number : 172 Question Id : 7368155224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 173 Question Id : 7368155225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which one of the following is the world’s biggest democracy?
Options:

1 % Russia

- % Japan

5z % China
4 « India

Question Number : 173 Question Id : 7368155225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 174 Question Id : 7368155226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which one of the following is the oldest political party in India?
Options:
, % Communist Party of India (Marxist)

> % Bahujan Samaj Party
- % Bharatiya Janata Party

4  Indian National Congress

Question Number : 174 Question Id : 7368155226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 175 Question Id : 7368155227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The present ruling political party in New Delhi is
Options:

, w Bharatiya Janata Party

-  Aam Aadmi Party

- % Indian National Congress

, % Bahujan Samaj Party

Question Number : 175 Question Id ;: 7368155227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 176 Question Id : 7368155228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is not involved in preparation of Indian National Budget?

Options:
= Finance Ministry

- % Comptroller and Auditor General

z « Finance Conunission

, % Planning Commission

Question Number : 176 Question Id : 7368155228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 177 Question 1d : 7368155229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

When was the first Economic Census conducted in India?
Options:

1 ® 1967

o o 1977
z R 1957
4 ® 1990

Question Number : 177 Question 1d : 7368155229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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. % 1990

Question Number : 178 Question Id : 7368155230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

On recommendations of which committee NABARD (National Bank of Agriculture and
Rural Development) was set up?

Options:
1 + Shivaraman committee

> % Narasimhan committee
% % Pranab committee

4 % Bimal Jalan comumittee

Question Number : 178 Question Id : 7368155230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 179 Question Id : 7368155231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The old name of Oriental Bank of Commerce is
Options:

, % Sigmund Bank

- % Oudh Bank
= % National Trust Bank
4 « Global Trust Bank

Question Number : 179 Question Id : 7368155231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 180 Question Id : 7368155232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Plastic Money’ refers to?
Options:

, % Fixed Deposits

- % [Iraveler Cheque

% % Demand Drafts

4 « Credit cards

Question Number : 180 Question Id : 7368155232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 181 Question Id : 7368155233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Vijay Amritraj is associated with which one of the following games?
Options:

1« Lawn tennis

> % Cricket
5 % Hockey

g Golf

Question Number : 181 Question Id : 7368155233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 182 Question 1d : 7368155234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The place where Mahatma Gandhi started his first ‘Satyagraha® was?
Options:

1 & New Delhi

- % Gandhinagar

5  Champaran

4 % Nasik

Question Number : 182 Question Id : 7368155234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 183 Question Id : 7368155235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following countries has never won cricket World Cup?

Options:
1 % Pakistan

- % SriLanka
5 % West Indies
4  England

Question Number : 183 Question Id : 7368155235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 184 Question 1d : 7368155236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who was the first Indian woman to climb the Mount Everest?
Options:

1 % Amrita Pathak

> % Junko Tabei
z « Bachendri Pal

4 % Malleshwari

Question Number : 184 Question 1d : 7368155236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 185 Question Id : 7368155237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Gyan Vigyan Vimuktaye’ is the motto of?
Options:

, w» National Council of Education Research And Training
o  University Grants Commission
=z % All India Council for Technical Education

, % Banaras Hindu university

Question Number : 185 Question Id : 7368155237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 186 Question Id : 7368155238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

finally approved the Five year plans.
Options:
, % Planning Commission

- % Finance ministry
-  National Development Council

4 % Reserve Bank of India

Question Number : 186 Question Id : 7368155238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 187 Question Id : 7368155239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which one of the following is the first book written by Mahatima Gandhi?
Options:
, % My Experiments with truth

-  Hind Swaraj
=z % Do or Die

4 % Economics of Khadi

Question Number : 187 Question Id : 7368155239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| % TcF & WY A 9AET (My Experiments with truth)




2 &g T=9u= (Hind Swaraj)
s % FU Ir 7 (Do or Die)
, % W& & 37ME (Economics of Khadi)

Question Number : 188 Question Id : 7368155240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Acharya Vinoba Bhave started ‘Bhoodan Movement” in?
Options:

, « lelangana
> % Maharashtra

- % Rajasthan

4 % WestBengal

Question Number : 188 Question 1d : 7368155240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 189 Question Id : 7368155241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The first Foreign Minister of India was
Options:

1 % K.MMunshi

-~ % Charan Singh

z % Radhakrishnan

4 + Jawaharlal Nehru

Question Number : 189 Question Id : 7368155241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 190 Question Id : 7368155242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following is considered as the greatest painters in the history of Indian

art?
Options:
, « RajaRavi Verma

-~ % SriKrishna Devaraya
% % Zakir Hussain

4 % Salim Ali

Question Number : 190 Question Id : 7368155242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 191 Question Id : 7368155243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Dr.B.R.Ambedkar was elected to the constituent assembly from which of the following
State?
Options:
, » Rajasthan

- % Madhya Pradesh

-  West Bengal

4 # Uttar Pradesh

Question Number : 191 Question Id : 7368155243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 192 Question Id : 7368155244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the present Chief Minister of Chhattisgarh?
Options:
, « Raman Singh

> x Ajit Jogi
- % Jagjit Singh
4 % Rajesh Pawar

Question Number : 192 Question Id : 7368155244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 193 Question Id : 7368155245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which country has the largest cultivated area of cotton in the world?

Options:
, » Bangkok

S India
3 « China

4 % Pakistan

Question Number : 193 Question Id : 7368155245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Question Number : 194 Question Id : 7368155246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘What is the age of retirement of President of India?
Options:

1 « No Limit

5 % 65 years

5 % 70 years

4 % 75 years

Question Number : 194 Question Id : 7368155246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 195 Question Id : 7368155247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The headquarters of Life Insurance Corporation of India is n?

Options:
1 % Chennai

> « Mumbai
-z % Kolkata
, % Bangalore

Question Number : 195 Question Id : 7368155247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 196 Question Id : 7368155248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which Indian State has a separate Constitution?
Options:

1+ Jammu & Kashmir

- % Shimla

- % Nagaland

4 % Manipur

Question Number : 196 Question Id : 7368155248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 197 Question Id : 7368155249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Dal lake 1s located in?
Options:

, % Punjab

5> « Jammu & Kashmir
T W Bihar

4 #% Uttarakhand

Question Number : 197 Question Id : 7368155249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 198 Question Id : 7368155250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who founded the Mughal Empire?

Options:
1 « Babur

> % Alkbar
%z % Ibrahim Lodi
, % Quli Qutub Shah

Question Number : 198 Question Id ;: 7368155250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 199 Question Id : 7368155251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who is popularly known as the ‘Flying Sikh’?
Options:

, % Maninder Singh

> % Charan Singh

- % Navjot Singh Siddhu

4  Milka Singh

Question Number : 199 Question Id : 7368155251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 200 Question Id : 7368155252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the present Human Resources Development minister of India?

Options:
1 % Suresh Prabhu

- % Rajvardhan Singh Rathore
5 « Smrifi Irani
, % Pallam Raju

Question Number : 200 Question Id : 7368155252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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